MOTOBOMBAS MC50




MOTOBOMBA MC50

CODIGO
REF. N MC50 DESCRIPCION
1 M165B MOTOR M165 PARA BOMBA MC50/80
BMC50 KIT BOMBA COMPLETA MC50
2 C001 TAPA POSTERIOR
3 C002 JUNTA TORICA
4 C003 ARANDELA
5 C004 TORNILLO M8X55
6 C005 SELLO MECANICO PARTE FIJA
7 C006 SELLO MECANICO PARTE MOVIL
8 C007 JUNTA DEL SELLO MECANICO MOVIL
9 C008 RODETE
10 C009 DIFUSOR
11 C010 JUNTA TORICA
12 Co011 CUERPO BOMBA
13 C012 ARANDELA
14 C013 TORNILLO M8X20
15 C014 JUNTA TORICA
16 C015 TAPON
17 C016 VALVULA ANTIRETORNO
18 Co17 PLATINA ASPIRACION
19 C018 TORNILLO M8X20
20 C019 JUNTA
21 C020 TUERCA RACOR
22 C021 RACOR
23 C022 PROTECTOR
24 C023 ABRAZADERA
25 C024 JUNTA
26 C025 PLATINA IMPULSION
27 C026 TORNILLO M8X25
28 C027 SILEMBLOC
29 C028 TUERCA M8

30 C029 CHASIS




	MC50_Parte2.pdf
	MC50_Parte1



